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A4+4 numberAnswer
—> int numberAnswer v

- ZHS 27| 2ol Y Hp Hed numberAnswer = 23
numberlnput

=) int numberinput

\ 4

inputNumber
- Hostgig|E
- S numberAnswer Of| 2% v
=> numberAnswer = Y& ——humberAnswer — False

—

_ z-|t:|-o okx7| 2|5 numberlnput 2 ola4 == inputNumb

u|--— |:|.
== (3 ”» \ 4
=) scnaf(“%d”, &numberinput) o =
"2 CFn n 2 n
- ZEY numberAnswer 2 numberinput LJ“’/J =
= H|wste} y
=> numberAnswer == numberinput v
- Hjw A} gto™ “YH” S 225t SeH ( 2 >

“E” o|2tn 3 sict
=) printf(“A&wWn”) £ printf(“2LEwWn”)
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1 #include <stdio.h>
2
3 =int main(void)
4 q
5 int numberl = 18;
6 int number2 = 12;
7
¢ || Af Gumberd > numberdy— ZUM oo
E i SN ol
10 printf("numberl O number2 ECt FLICE.\n"); i 75;:|3|H§|.;n£'a12'_2
12 e
13 :else :
14 Py : 2744]0] A3 (false, 0)H
15 printf("number2 7} numberi ECt FLICh\n"); | BF 2Wst= B3=
16 1) :
------------------------------------------------------------------------------ P
17
18 return @;
19 [}
= 232 ool RZA0] Z(true, 1) € S stz A=, U4 0| 72 (false, 0) &
S Adsts YHBo| 2
- . = = o AS
- Z7M0| H(true, 1) O A if O 22 HETE () U) | YHSS 2
=) = o AS
- Z7M0| 73 (false, 0) 2! 2 else 02} B2 HFLE { ) ) o HY2S H

27]: if ~ else
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A U 2] if ~ else

2 =

if of] 2|5t R 27| =& (1): if ~ else

1 #include <stdio.h>
2
3 =int main(void)
4 o
5 int numberl = 1@; | if 0|5} i
6 int number2 = 12; =51 ) 3EE 4
7
8 if (numberl > number2)
9 { A3 (false)
10 printf(“number1l O| number2 EC} FL|CH.\n");
11 ¥ else O[5t
12 =25( ) SY= LY
13 else
14 { <
15 printf("number2 7} number1 ECF FLCH. \n");
16 } \
17
18 return 8;
19 [}
- if = 2% oro| XUAO0] (true, 1) Y B 2¥ot= BB, 2U40| HA (false, 0) &
BF ddol= HEZ9 1=
- RUA0] H(true, 1) Y R if ol =5 HESE=({ } L) & HB =S =
- Z7440] 7R (false, 0) 2 S else Of2f S22 HELE { ) L) | YHSS 24
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= if of] 23t 2 £ 2= (1):if ~ else (AIS)

1 #include <stdio.h>

2

3 int main(void)

4 { . if0|3|’n
5 int numberl = 180; s=s(he=d
6 int number2 = 12;

.

8 if (numberl > number2) A% (false)

9 printf("number1l O| number2 EC} FLICF. \n");

10 else O|s}

11 else =5( ) Z3E 4

12 printf("number2 7t number1 ECF FLICF \n");

13 .

14 return @;

15 } v

- if Lt else Of| 2l FEE0| stLictH SE== d=0| 7t
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(Al ? datal : data2
- O{7|M datal 2} data2 = ¥, =, AL O] F = QUCEH
« Z7IA0] 2Htrue, 1) Ol 2 datal g BHEIStT, 73 (false, 0) ¢!

—

- Of2fl oAl =AU HUALS 02510 YHAE &S numAbs Of AS

#deftine CRT_SECURE_NO_ WARNINGS
#tinclude <stdio.h>»
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-int main{void)

{

int numInput, numAbs,
pr‘intf( R—I,A. DIE=| ),
scanf ("%d" &numInput),

numAbs = numInput > @ ? numInput :

printf("2%H 4l %d \n", numabs);

return 8;

numInput*(-1);

AL data2 &

cidfo 2 =7|gt6t= of



2.2 Y 27| if ~ else

= ifoll 2ek =22 FI]| #= (2): H(true) & WU FHES Y

1 #include <stdio.h>

Zk(true)

if 0|5}

CEE( ) HYRAY

2

3 =int main(void)

4

5 int numberl = 18;

6 int number2 = 12;

7

8 if (numberl > number2)

9 {

10 printf("number1l O| number2 EC} FLICF.\n");

11 } N
12 l
13 return @;

14 |}
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B 2.2 Y 2] if ~ else

= [24]12-1] =2} 271 Al

5 e =
- WS MW A
A48 numberAnswer
=> int numberAnswer v
- AEE 9tx7| 2l Ydet Ha M numberAnswer = 23
numberinput
=> int numberinput !
inputNumber
. medgms
- A4S numberAnswer 0| 2% oy
=> numberAnswer = ¥ & _—numberAnswer —____False
== inputNumb

- Aeks ak=27| 2|5l numberlnput S ¢
2 wh=C}
- C -

=> SCnaf(“% d”, &numberlnpUt) R “ 2‘:} )
- el humberAnswer 2} cE =

numberinput € H|2 8t}

=> numberAnswer == numberlnput Y
- Hlu ZAngtod™ “HE 2 25l & C = )

2|H “2F” o|2t1 2 siCt

=> printf(“YEwWn") £ printf(@
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2.2 Y 27| if ~ else

= ifof] oJst 274 27| X (3): CI= &7] if ~ else if ~ else

1 #include <stdio.h>
2
3 =int main(void)
4 |{ .4
5 int numberl = 18; -
: 2Hr if o[
6 int number2 = 12; if 2 ZHA| ﬂ» =( ;1; %::5,_ AlsH
7 2o
8 if (numberl > number2)
9 { A3 (false)
10 printf("numberl O| number2 ECt FLICE \n"); 45
11 }
Zh(true 3|
12 else if o 224 L» (?Is}i,'égdlg AT
13 else if (numberl < number2) °= =<
14 {
15 printf("number2 7t numberi ECt FLICH \n"); 22! (false)
16|} |
17
else 0|3}
1 else 5( ) B2E uY
19 {
20 printf("numberl f number2e= ZSLCHAN");
21 } N
22 v
23 return @;
24 |}

- elseif 2] ZZ2]0] Zk(true, 1) 2 BR, else if 0|5t 55 U BHES A
o 57 AlO Z| ol Olst E2 L HaAS2 2 AlGH
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B 3. MEH B.7]: switch ~ case

= if ~ else if ~ else 2} switch ~ case

if ~elesif ~ else switch ~ case
num1 + num2 i
_— T~
@ 1 1
— arithmetic ? r __, numl+num2

K

num1 - num2

i

5

J\
~ num? - num2
default s -
¥/
num1 * num2
J\
L num1 * num2

\ 4

K

oy num1 / num2
@
A 4

arithmetic =

i

Al
Al bvrong cm /. num1/num2

Q

5

n n 7/
wrong character
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B 3. MEH B.7]: switch ~ case

= [of|A] 12-1] switch ~ case O] 2|8t =
- [&4] 12-3] € switch ~ case 2 8

1 #define CRT SECURE NO WARNINGS
2 #include <stdio.h>

3

4 =int main(void)

5 |{

6 int inputNumberl;

7 int inputNumber2;

3

9 char arithmetic;

10

11 printf("F H& BH: ");

12 scanf("%d %d", &1nputNumber1, &inputNumber2);

13

14 printf("Hot= GME BEH (G E= ) "),

15} scanf("%c", &arithmetic); ffTW|'§ 2E WE0 O Flec=z YIHM B|/FE FEEZ U
16

17 switch (arithmetic)

18 {

19 case '+':

20 printf("%d + %d = %d \n", inputNumberl, inputNumber2, inputNumberl + inputNumber2);
21 break;
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B 3. MEH B.7]: switch ~ case

= [of|A] 12-1] switch ~ case Of| 2|8t 27 £7|

(ZE 9 10| 2] 0]0]A)

22

23 case '-':

24 printf("%d - %d = %d \n", inputNumberl, inputNumber2, inputNumberl - inputNumber2);
25 break;

26

27 case '*':

28 printf("%d * %d = %d \n", inputNumberl, inputNumber2, inputNumber1l * inputNumber2);
29 break;

30

31 case '/':

32 printf("%d / %d = %d \n", inputNumberl, inputNumber2, inputNumberl / inputNumber2);
33 break;

34

35 default:

36} printf("EEE Y= YLICE\n");

37 }

38

39 return @;

a0 |}
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B 3. MEH B.7]: switch ~ case

= switch ~ case 0| 2|3t 2 &7]
switeh R ¥R 2
d
arithmetic ==+’ —t'case '¥"
break;
arithmetic == "' —icase -1
printf("%d - %d = %d \n", inputNumberl,
break;
arithmetic =="+" —icase '¥1:
printf("%d * %d = %d \n", inputNumberl,
brealk;
arithmetic ==/ —icgse /15
printf("%d / %d = %d \n", inputNumberl,
break;
+' T *' / 2' Q_I 7Hk :‘.'.q.'e.':ﬁlla.l;i;lll.lll.lll.lll .............................................
printf (A ETTETRITEE \n"Y; F
} AN NN NN NI NN NN NN NN N R NI E NN NN NN NN NN ENEEEEEEER

inputNumber2,

inputNumber2,

inputNumber2,
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inputNumberl - inputNumber2);

inputNumberl * inputNumber2);

inputNumberl / inputNumber2);
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